Notes.  (Use if applicable.)
[image: image1.png]In schematics, ground and chassis may be assumed to be common, unless
specifically stated otherwise.

Unless otherwise specified, assume that Op-Amp supply voltages are + 15V.




Question E7.

[image: image2.png][20 Marks]
(a) Show how an ideal Operational Amplifier with an open loop gain = A can be
used to provide : [6 Marks]
i) a non-inverting amplifier with gain = + 6 viv
ii). an inverting amplifier with gain = - 3 viv.

ii).  an integrator with gain = + 3.

Explain the purpose of every component in your circuits.

(b) Determine the transfer function (v,/v;) for the circuit shown [6 Marks]
C R,
—
Vin ‘ Ry G = Vour

() Determine suitable values for the components such that the phase shift will
be zero for a sinusoidal input voltage at 5kHz. [8 Marks]

All assumptions must be clearly stated and justified




Graph Paper.  (Use if applicable.)
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